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The figures in the margin indicate Sull marks
Jor the questions

1. oo frar ResPe o/ o Seach e 4 -

| 1x5=5
Choose the correct answer from the
following alternatives :

(a) wwmwm

Price relative is equal to

(i) e <9 3o
fefe < wop
Price in the given year
Price in the base year

x 100

x100
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(b)

(c)
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(2)

) BRI/ T, 100
bfere 9 o
Price in the base year
Price in the given year
(iii) dfer® W e x 100
Price in the given year x 100
(iv) fofe = =1 x 100
Price in the base year x 100
fRefiecIon IPREe e @ @
The faults due to assignable causes
(i) SToIR IR
cannot be removed
(i) eI AR
can be removed
(ii)) AT BTeI] 241}

can sometimes be removed

x 100

(iv) 8RS BRI
- All of the above
AR &9 1999 e RF SD 6 3 2oyfrs

TS VS A4 25

The relation between expected value of R

and SD ¢ with usual constant factors is
() E(R)=dc

(@) E(R)=d,o
(@) E(R)=D,c
(iv) E(R) = Dyo




(3)

(d) TR AR Yoz FfFe 7y
Vital statistics is mainly concerned with

() w9 e
births

(i) Yo R
deaths
(i) Ry e ,
marriage , ke |

(iv) S°/T SIBRFH!

|

\

All of the above \
; |

(e) TSYRT BT 2HLF ST 37
Fertility rates mainly depend on

(i) o RPN TPRIE 8o 1
total female population
(i) o SPRAN G/FS
~ total population

(ifi) AR T v PN NREe GPRUN @A

female population of child bearing
age

(iv) TS ARy MRy @o®

number of newly born babies
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2. w5Te fil eppiyEd R Teq fr

(4)

Answer the following questions in brief :

() Wﬂ\mmﬁwﬁ?ﬁ@mﬁ%ﬁ{%m@m

(b)

(d)

(e)

3. i Il 4o e T fan

[
Why is index number called economic
barometer?

WISPF FRY TF LI FRT AT A1/
ot o |

Write the difference between chance
~cause and assignable cause.

W"fﬁ@ﬁﬁﬂﬁ C-oIfe IRRF I
AR |

Give five situations in Wthh C-charts

“can be used.

o AR w?rr & B o mﬂﬁmm
xR ? ’

What events are covered under vital
statlstlcs?

uz*nﬁr SRS ] ﬁm |
Define crude birthrate.

Answer any two questions :

()
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o A IR SAF STNRS! A0 ¥4 |

Explain the uses and limitations of index
number.

( Continued )

2x5=10

6x2=12

i

o e W A




(5)

(b) TocSIE Wo O RN ffleq R opfeq
Rety wicem= @541 |
Discuss the different methods of

construction of consumer price index
number.

() TRE TrieaR Gice RiSa s 53 sieaizam i
M 9 |

Explain the various types of index
numbers with appropriate examples.

4. (a) T8 GOR B ¥ 9 2 NI @15
T IER I© ARRRE @95 I fmms [
SRIT AP o dfem FRma we sEH)
fRTgR ere o oryear | 2+6+3=11
What is meant by quality of a product?
What role does statistical quality control
play in maintaining the quality of a
product? Distinguish between process
control and product control.

S_T/ Or

(b) FEza SR ey o e 2 R e
FE® X Olfeil S99 WA 9 | SRl
TGP SRS T P el o Rew
A 3547 | | 3+3+5=11

What is the rational behind setting of
control limits? Discuss the behaviour of
X chart in relation to R-charts. Discuss
the construction of P-chart when all the
samples are of same size.
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(6)

5. R WA Bt opq Taq firay 6x2=12
Answer any two questions :

i (@) ScfEs YR 2/ @ G FRE AR B

| wife e Yo 29 Wi T 2RetE ofF 2
3+3=6

How can one calculate the crude death

rate? In what sense specific death rates
are better than the crude death rates?

‘ (b) TMRT TIIOR B[ $ WF T @ R

I AR 2 PR IR ARTeR 7w &

CoNNET 2 3+3=6

| What is general fertility rate and how

| can it be determined? What do you

| understand by measurement of
population growth?

(c) @b G wieeR RfSw Temprg a1 w9 |
&g OifeeR IRFPE [ 2 3+3=6

Describe the various components of a
life table. What are the uses of life table?

6. R I o s Tey firm 5x2=10

Answer any two questions :
(@) WAfERS S @ 1995 TR WHRY OO
2005 B9 1T o) 3PP RN 9o [ -

From the following data calculate price
index numbers for 2005 with 1995 as
base by
(i) =ANETT 3
Laspeyer’s formula
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(ii) AR 34
Paasche’s formula
(ifi) Wb el 9

Marshall-Edgeworth formula
(iv) =S 39

Fisher’s formula

(7))

VTP 1995 2005
Commodities 5777/ Price Af3579/ 477/ Price 33 q/
Quantity Quantity
o 20 8 40 6
B 50 10 60 5
c 40 15 50 LE
D 20 20 20 =

(b) <B1 e e&Tq CNFHEN 2w SR GBI I
T 9 | A S5 WFRT 7=D

oI
C=fee

91 (2fee wF RERiRe Feawe @ 9

A machine is set to deliver the packets of
a given weight. Ten samples of size five
each were examined and the following
results were obtained :

RECIEER]

Sample No. 10k 20 P8 Al 5 B SR EEO T L 16
157

Mean 43149137144 (4537 |51|46|43| 47
CIELES

Range 51 6.5 {7 1 risansail e ate
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(8)

@R @R N e W elfe S oo
R fRuga S s 3911 [REge S[EN
Ry w3 391 1

( e R

n=53318d, =2-326,d3 =0-864)
Calculate the values for the central line
and the control limits for the mean chart

and range chart. Comment on the state
of control.

( Given for ‘
n=>5dy, =2-326,d; =0-864 )

(c) e wifeeR o[ T+ &P Rt A 3

e A WIF B wPRY YOR SeNfEe e

AN JOI QT S I -

Compute the crude and standardized

death rates of the two populations A and

B, regarding A as standard population

from the following table :

A B
P (NG TR | T R | I

Age Group (Years) | Population| Death | Population| Death

10 919 20,000 600 12,000 32
Under 10

10-20 12,000 240 30,000 660

20-40 50,000 1250 62,000 | 1612

40-60 30,000 1050 15,000 525
60 9 8799

Above 60 10,000 500 3,000 180

* Kk
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